

Working together to return our government to the people.

Maine Polling Location County Overview

Sorted by Population Density

Maine Polling Location County Overview (Sorted by Population Density)

county name see also separate lists of polling locations for each county	population	area square miles	population density	total polling locations	avg. polling to pop. density
Cumberland	281,674	1,217	231.45	47	5,993.06
Androscoggin	107,702	497	216.70	21	5128.67
York	197,131	1,271	155.10	35	5,632.31
Kennebec	122,151	951	128.44	31	3,940.35
Sagadahoc	35,293	370	95.39	10	3,529.30
Lincoln	34,457	700	49.22	19	1,813.53
Waldo	38,786	853	45.47	27	1436.52
Penobscot	153,923	3,556	43.29	62	2,482.63

Maine Polling Location County Overview (Sorted by Population Density)

county name see also separate lists of polling locations for each county	population	area square miles	population density	total polling locations	avg. polling to pop. density
Knox	39,736	1,142	34.80	18	2,207.56
Oxford	57,833	2,175	26.59	37	1,563.05
Hancock	54,418	2,351	23.15	41	1,327.27
Franklin	30,768	1,744	17.64	21	1,465.14
Somerset	52,228	4,095	12.75	34	1,536.12
Aroostook	71,870	6,829	10.52	67	1,072.69
Washington	32,856	3,255	10.09	46	714.26
Piscataquis	17,535	4,377	4.01	17	1,031.47

Maine Polling Location County Overview (Sorted by Population Density)

We The People Maine website link: http://wethepeoplemaine.org/county_info.html Sources:

Maine.gov Bureau of Corporations, Elections & Commissions election data web page

http://www.maine.gov/sos/cec/elec/data.htm

Wikipedia: http://en.wikipedia.org/wiki/Counties_of_Maine

All information has been migrated to a custom SQL Server database designed to help us manage the We The People Maine Citizen Initiative Project. Extracts from the database are available on request

ask Bill: http://wethepeoplemaine.org/contact.html

The database design is available via: http://wethepeoplemaine.org/database/polling_place_v08.jpg

or for the PDF via: http://wethepeoplemaine.org/database/polling_place_v08.pdf

and the database itself with all generic information including information and links for all Maine counties, county seats, all polling places and any additional generically useful information developed for the We The People Maine Citizen Initiative Project will be released as open source with copyright and open source notices similar to the following:

© 2008, 2009, 2010, 2011, 2012, 2013 Maine Quality Information Partners, Inc. With the exception of proprietary security and other entities and relationships which are not included, released as open source under MPL-2.0 (see notice below).

This Source Code Form is subject to the terms of the

Mozilla Public License, v. 2.0.

If a copy of the MPL was not distributed with this file, you can obtain one at

http://mozilla.org/MPL/2.0/

(MPL-2.0, 1.13. "Source Code Form"; means the form of the work preferred for making modifications.)